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Networks

1) List advantages of building a LAN in a small organisation setting as opposed to using stand alone computers.

2) Describe the purpose of:

a) UPS

b) Network card

c) Hub

d) Workstation

e) Network printer

3) What is the difference between an applications server and a file server? 

4) What is the purpose of a Server Mirroring? Why is this an important data protection method?

5) Define 

a) bandwidth

b) firewall

c) topology

d) router

e) network collision

f) packet switching

g) node

6) An Ethernet system is built on a linear bus topology which uses the “Carrier Sense Multiple Access with Collision Detection”, (CSMA/CD), system at a transmission speed of 10BASE5. 

a) In 10BASE5, what do the two numbers represent?

b) Describe CSMA/CD.

7) What is the purpose of a Token in a Token Ring network?

8) What are the purposes of Network Protocols?

9) What are peer-to-peer and client/server networks?

10) What do the abbreviations WAN and MAN stand for?

11) There are three main cable types. What distance are they suitable for? Provide diagrams of each.

12) Twisted pair can either be shielded or unshielded, explain? 

13) What is the purpose of a bridge and a gateway?

14) An organisation has two LANs in two neighbouring buildings 40m apart. The administrator wishes to connect these two networks together.

a) What type of cable do you recommend be used to connect these two networks together? Why?

b) Which would be more suitable to interface these two networks together, a bridge or a gateway? Why?

15) What is a bottleneck?

16) Why could you experience delays in receiving data from a file server to your workstation?

17) What is the purpose of a network account typically on a Windows NT or Netware system?

18) What is the role of a DNS server?

19) What is the purpose of a repeater? 


a) If there was a critical link in this network where do you think this would be? 

b) What would happen if this failed?

20) If a low powered workstation was used as a print server on a peer -to-peer network, what are the potential problems? 

21) TRUE OR FALSE

a) Coaxial Cables have a capacity of 10 – 2000 Mbps.

b) Fibre Optic Cable has colour coded wires in its cable.

c) An Unshielded twisted pair cable is an inexpensive cable.

d) Coaxial and twisted pair cables are susceptible to interference.

e) Shielded twisted pair cables are used where interference is a problem.
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